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MATHEMATICS (Science Group) Subjective ~ (For All Sessions) 2l 5L |
ime: 2210 GROUP-II Marks :
Time: 2:10 hours — BWP‘*Q—" 13{ ) o arks : 60
2 Virite short answers of any six parts from the following: ~ (X6=12) o1 Fouin F Lomga §fbdins 2
i. Define extraneous root. sy Pl
ii.  Solve by factorization: 5x2 = 15% ESGF i i
i, Soive the equation by using quadratic formula: = Ty 2 S cralirbigond .
. Find the discriminant of._ x4+ 3x=-5 N
v, Evaluale: w0 + w41 fped Y
vi,  Write the quadratic equation having following roots: 4,9 L ¢ 7 otk st i
vii. ~ State theorem of componendo-dividendo: e S S e M
Vil ffq e bi;and a = 3when b = 4 find valug of K. ALK b = 4 Fa =3 X %ﬁ Vil
ix. Find amean proportional between: 200395, Sx7y Lo _aiips X

3. Write short answers of any six parts fram the following: ~ (@8=10) |40 0, Peyz Flizge Wunkios

Defing proper fraction. e P N
i IE%’E% ¥ 1—’-:; + :41 then find the valuesof A& B, _Uffr(}‘.:agdk.ﬂlﬂf:c j’:—j = ;% + %fr i
iil.  Write all the subsets of {a, b} i L, b)er i
. KA=1{1,23),8={2.4 %and 5B ={2,4,9%4 ={1,2,3L) W
f={x»)|y=2x,vVXEA YEBF] ==y |y=2x VX €AY € B}
then find Domain f and.Range f. BOr RN
v HL={abc} M= {(45ndl <M. S LXMIM = {4,5)0 = {a, b.c}. A v
v, fX=¢andT =2 thenfind X nT. LSAENTF T =2t =@V
vil. Define harmonic mean. _;,.:)lé-fdfwi..ﬂfﬁ o
viil.  Find the arithmetic mean by direct method: g A b nl SN ey

Number of heads } "y 2 q 4 5

Frequancy E 3 8 5 3 1 E
i  Findthe median of the datx 11500, 12400, 15000, 14500, 14800, 16200 TR B
4 Write short answars of any sis parts fromthe following: ~ (2x6=12) /2 feiz @ Lamge $i8 by 4
i. Defing angle of elevation. oy e
i Convert 1—2-35 rad to degree. Ehead Sy Eﬁ-’f rad A
(P.T.0} (g




Wi,

vit,

Note:
5. (a)
(b}
6.{a]
(0}

7.48)

(b)
8.(a)

v}

Ql-o p-2~2Y

Fnd@when [ = 4cm, T = Tem By D
Prove that. Sin?8 = sind — sinfcos® @ S
Define sector of tircle. _ i _&{JIJJ;»}LM;,
Define circumcircie P Y
Define cyclic quadrilateral ST PR 7
Define reguiar polygon. _ S At sy ¥
The length of aeach side of a regular octagon is 4 cm. Measure e “WI&:’”J%{LJ? P P
ils perimeter,
SECTIONI (8x3=24) 1.2
Attampt any three questions in alt while Q.No 8 is compulsory: e N9 b LS F clzLairl S
Solve the equation: 22t =11x2+5=0 gt
Prove that: 3+yd+22 ~3xyz = (x+y+D)(x vy wl) (x+ 0’y +wz)  gad
Find  in the praportion:  B-xill-xuw¥E-x125-x e adinde €
Resolve into partial fraction: —-—:J'-x-;?-—.' ol kg
(x+3)x*+1) B
f: L={xlx€£NAx55}.M‘={yIJ’EP-’\)"{'J-O} A
Then make a relation from 4 o M e b M = b ﬁlﬁiﬁpi
Ry ={x ) ly—x =2} Ry={CxyHy=1x}
Find standard deviation ‘5" 12,6,7,3,15,10, 18,5 :g’ji’[-r""S'..J!leﬂ_.u
ffrané = %and\siné is in quadrant 111, find the vaiues of e F oL e Asinbutan 6 = ;—;fr
other trigoncmetric finctions at 6. i S
Draw two perpendicular tangents to @ circle of radiug. S cm. -m{“’ UWpAE e Fd e
Brove that a straightJing, drawn from the center of a circlerto bisact S Rpons e p Leivd ok
a chord (which is nat adiameter}is perpendicular to the chord. ekt g Facks LS
(OR) (k)

Prove that the measure of a central angle of a minor arc of VB S Al PP A
a circle is double that of the angie-subtended by the e e i /"‘_‘5
cormesponding major arc. b ntla g i Lod 7 2510
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